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QUESTION 1

The KV store forms its own cluster within a SHC. What is the maximum number of SHC members KV store will form? 

A. 25 

B. 50 

C. 100 

D. Unlimited 

Correct Answer: D 

 

QUESTION 2

When should multiple search pipelines be enabled? 

A. Only if disk IOPS is at 800 or better. 

B. Only if there are fewer than twelve concurrent users. 

C. Only if running Splunk Enterprise version 6.6 or later. 

D. Only if CPU and memory resources are significantly under-utilized. 

Correct Answer: D 

Reference: https://answers.splunk.com/answers/617608/can-we-increase-parallelingestionpipelines-in-ahe.html 

 

QUESTION 3

Because Splunk indexing is read/write intensive, it is important to select the appropriate disk storage solution for each
deployment. Which of the following statements is accurate about disk storage? 

A. High performance SAN should never be used. 

B. Enable NFS for storing hot and warm buckets. 

C. The recommended RAID setup is RAID 10 (1 + 0). 

D. Virtualized environments are usually preferred over bare metal for Splunk indexers. 

Correct Answer: C 

Reference: https://www.splunk.com/pdfs/technical-briefs/splunk-deploying-vmware-tech-brief.pdf 

 

QUESTION 4
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A three-node search head cluster is skipping a large number of searches across time. What should be done to increase
scheduled search capacity on the search head cluster? 

A. Create a job server on the cluster. 

B. Add another search head to the cluster. 

C. server.conf captain_is_adhoc_searchhead = true. 

D. Change limits.conf value for max_searches_per_cpu to a higher value. 

Correct Answer: D 

 

QUESTION 5

What is the minimum reference server specification for a Splunk indexer? 

A. 12 CPU cores, 12GB RAM, 800 IOPS 

B. 16 CPU cores, 16GB RAM, 800 IOPS 

C. 24 CPU cores, 16GB RAM, 1200 IOPS 

D. 28 CPU cores, 32GB RAM, 1200 IOPS 

Correct Answer: A 

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/Capacity/
Referencehardware#Reference_host_specification 
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